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OPERATING SYSTEM PRINCIPLES
Praifter g Yower) _ | [Sftrwas &% : 30
? Tiine allowed : 2 Hour} | [Maximum Marks : 30
o ) wiwe ot Fod e Tl A EE
_i , Note : Aﬂ Questions aré compulsory and each question is of 1 martk.
. (i) D mireil F s ER @t Rafy F sasht aqar gt = & 1
'{‘ Only English version is valid in case of difference in both the languages.
: L ﬁﬁmﬁa,m‘mmm 1. -Which of the following task is
; e g weifyey R s & 2 managed by operating system ?
(a) A | : (a) Memory
i (b) . WHREE (b) Processor
_ @) fewwdr o feama < (c) Disk and I/0 device
’ d) All of these
d) o= oft : ( .
2 'Wmmﬁﬂmt? 2. What is use of real time system ?
W gqa- Qe - (a) used in main frame computers
g)) Hﬁlﬁﬂﬂ? azjr# s m| ¥ (b) used for monitoring events as
they occur
fre | Y .
: (c). used for program analysis
% gﬁ“":ﬁ’ﬁ“*m . (d) used for real time interactive
tetfrea St users ,
o . _
3 ﬁmﬁﬂﬂ#wmq@mﬁ 3. Which of the followings is not an
) Wdmro advantage of multiprogramming ?
“"’Fm (a) Increased throughput
g:; L (b) ' Shorter response time
_ "~ (c) Decrease rating ' system
(c) Frfen fgen ¥ saRs o wHt overhead P
1 (d) =& W waRmmal ®@ W W (d) Ability to assign priorities of
% qHe ' ’ job

) P.T.O.
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4.

R e m @ st T ¥ 2
(a) UOEAWEIHEAT

(b) HIEATH Y Tl TP

(¢) favasdr

(d) SR

g ?

(a) T&=F W@ I35 W 9w 7 Wi
(b) T ST & R w5 aeEit

(c) Froare & gerar U Hiww

(@) fielas i & @ em

T ¥ T @ NN °, e ek
?ﬁmﬁmwwmﬁmm
?

(@) Wty TR

(b) W™ FEX

© WIS

(d) RY

wxd Rafem fner o Rewesr ce R ¥ 9
(@) T

(b) AT

(c) T &M

(d) =< &t

R Faiew uRefya Rpar s & 1

(2) TEN B iE IEIT T |

(b) TST A TGRRT Tiie §

(c) v smaRa  wegRm
TR §

@ agwmm@nwﬁ&mﬁ
T A R T A e

(2) WO B e IEgReT TR &

(b) 3T Ui wrggferT weiftem #

(c) vwebmer emaRa  wegRwm

T &
(d) =g TR AR AGIFFT TR |

2030

What is main function of distributed
system ?

(a) Resource sharing

(b) Compilation speed up

(c) . Reliability

(d) All of these

What is process ?

(@ A program in high level
language kept on disk.

(b) Contents of main memory

(c) A program in execution

(d) A job in secondary memory

The address of the next instruction to
be executed by current process is -
provided by the -

. (@) CPU register

(b) Program counter
(c) Process stack

(d Pipe

Context switching is a part of
following

(a) Spooling. -

(b) Polling

(c) Interrupt handling

(d) Interrupt servicing

Time quantum is defined in

(a) Shortest  job scheduling
algorithm

(b) Round robin ©  scheduling
algorithm

(c) Priority bésed scheduling

algorithm
(d Multilevel queue scheduling
algorithm |

Process are classified into different

groups in

(@) Shortest job scheduling
algorithm

(b) Round Robin  scheduling
algorithm

(¢c) Priority based scheduling
algorithm

(d) Multilevel queue scheduling
algorithm




AT T T e e

D, .l . S P~ sy o TS 5T

AR R I i e AP

e e el i e S A BTN TR

CS203/1T203

10.

11.

12.

13.

14.

P 3 @ B T wETES v
T & 2

(a) THHTETE-FE FH G oY
(b) TEATE.-MEE HE T
©) IANIAR-TSE A

@ wHABET

mmmnﬁﬁ%mw

qH T B T B &
(@) ®Em
(b) ATHFR

© WwR

@

drs Frfafaa § @ weam &
(a) TFRR UEE _
(b) &I T MIHE
(c) et = fewm

(@ 7 q B

T T TE I | o 8, AR

(a) ?ﬁ:ﬁﬂqwﬁ@ﬁmﬁw

(b) TEF N FEE & ST |

(c) VR NEW THTW H T F H
ol

@ wEIREE

wﬁmaﬁsuﬁq4m% |
TS WA i Sfwaw 2 anE Ol

&

(a) ST it & & |
(b) IFHEATFAL |

(c) 3IEi B =Ny |

@ w I wE

Q3)-

10.

11.

12.

13.

14.

2030
Which one of the following is the
most optimal scheduling algorithm ?
(@) FCFS - First Come First Served
(b) SIJF — Shortest Job First
(¢) RR-Round Robin
(d) None of these

The problem of indefinite blockage of
low-priority processes is called

(a) Starvation

(b) Wait queue

(c) Ready queue

(d) Aging

A thread also called from following :
(a) Heavy weight process

(b) Light weight process

(¢) Partof I/O

(d) None of these

A set of processes is in deadlock if

(a) each process is blocked and will
remain so forever

(b) each process is terminated

(c) all processes are trying to kill
each other

(d) None of these

A system has 3 processes sharing 4.
resources. If each process needs a
maximum of 2 resources, then -

(a) Deadlock can never occur
(b) Deadlock may occur
(c) Deadlock has to occur
(d) None of these _
~ P.T.O.
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15.

16.

17.

18.

19.

20.

@ﬁmwwﬁaﬁrﬁﬁmaﬁ
et A ¥

(a) @ e

b) ThREIEE

(© gl s
(d) SR TR

geiis F B W 3T WRT B W HET

=gy Rt wanfte J
() FAEmETEEEY

(b) T Y HF AVE oL |
(c) e afa W |
(d) Sy adt

= % 9 =9 o g Wiy, g7 =
618 |

(a) it dw

b) I

(c) ufe® W

(@ sﬂﬁﬁﬁ%aﬁ

qﬁﬁﬁwﬁtﬁmﬁfﬂhﬁm
FEetien &

() W
(b) TS
(c) WMo
(d) wEH

A @ Bt e o et T @
(a) TR

(b) =

(c) mamm
(d) T & B w

FrRfén faen 51 et s &
(a) W% W & fe

b)) TAFITF T

(c) W% TR % fog

@ wwTE

1S.

16.

17.

18.

19.

20.

2030

A system is:in a safe state only if
there exists *

(a) safe allocation
(b) safe resource

~(c) safe sequence

(d) all of these

These processes should be aborted on
occurrence ..of a deadlock, the
terminat:on of Wthh

(@) is more time consuming

_ (b) incurs minimum cost

(c) saféty is not hampered
(d) all of these

Which one of ‘the following is the
address generated by CPU ?

(a) Physical address

(b) Absolute address

(¢) Logical address

(d) None of these

Physical memory is broken into
blocks is called

(a) Frames

(b) Pages

(c) Mapping

(d) Segmentation

Following type of fragmentation not
happens with paging

(a) Internal

(b) External

(c) both Internal and External

(d¥ None of these

Operating system mamtams the Page
table for

(a) Each process

(b) Each thread

(¢) Each instruction

(d Each address
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21.

22.

23.

e e e

, HAFIRATTAR
fireha Avird @ sy ARy 3 i e &

(a) Fm
(b) dmiE IR
(c) QW=

.(d) Tt

Walfm‘aﬁ &ﬂm iy §
ﬁmha«#%h%ﬂm%?

(a) mwﬂa
®) TR U

(© s O

) ﬂﬁrﬁaﬂtiﬁ,i

(@ ¥, e 3 s W

amen |

() Wer § il ¥ =W w@
wme d |

© WA

(@) i = el &

Yot QY T B ¥ 5

(a) ¥ o ST Ry |

®) ﬂw%ﬂtﬂﬁﬁaﬂﬁﬁm#ﬁ
fuern

©) W

@ IR

I 1 T ST S T &

" (a) R T

(b) IS TR FWT
(c) IR UM T
(@) & =g

21.

22.

23.

25.

- 2030
The concept in which a process is
copied into main memory from
secondary memory according to
requirement
(a) Paging
(b) Demand Paging
(c) Segmentation
(d) Swapping

In FIFO page replacement algorithm,
which page is chosen for replacement ?
(a) Oldest page |

(b) Newest page

(c) Random page

(d None of thgsc

A process is in thrashing if

(a) it is spending more time paging

than executing .

(b) it is spending less time paging
than executing

(c) page fault occurs

(d) swapping cannot take place

A page fault océurs when
(a) apage gives inconsistent data

(b) a page cannot be accessed due
to its absence from memory

(c) apageisinvisible
(d) All of these

File type can be represented by
(a) Byfilename
(b) By file extension
(c¢) Byfile ideﬁﬁﬁer
(d) None of ‘these
P.T.0.



CS203/171203

26.

27.

28.

29.

30.

LERIRD CReci el

(@ ™

(b) WK
(c) it
(d) JHR

T TS EE I % FT St v

werweEn

(a) qfvart wrger faeewr

() e g e

(c) WIEeT-3ENT Higger
@ wHINET

o e P 3 o W f @

R

(a) ;’mmiqﬁﬂmaaﬁwm
T

() ol A H FHEN o H/IA |
(c) ¥ vt T T we g wOET |
(@ v« wE

fer i Wwdade®
af#a%m;fégh& e
(a) wETeiieTaT
(b) TATEHHCIEAT
(c) &wer
d) W=

T Fien T Freg weeren &
(a) W TEREoT Rr
(b) ol sfrres fram
(c) R T wRiEnToT Frer
(d) arafes a Frer

26.

27.

28.

- 29.

30.

Which is not a file attribute ?
(a) Name

® Type

(c) VContent
(d) Size

To create a new file application
program calls

(a) Basic file system

() Logical file system

fc) File orgﬁﬁisaﬁon modules

(d) None of these

If one site faﬁi»s" m 'distributed system

(@ The remaining sites can
continue operating

(b) Allthe sites will stop working

(c) Directly ét_njnected site will stop
working

(d) None of these

The capability of a system to adopt
the increased service load is called

(@) Tolerance
(®)  Scalability
(¢) Capacity
(d) Performance

A loosely coupled systeﬂl is called
(a) Parallel processing system

(b) Distributed computing system
(c) Pipelined processing system
(d) Real time system
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OPERATING SYSTEM PRINCIPLES
|’ \RL-I1

fratfm v A ) | | | (ST 3 .70
‘Time allowed : Three Hours] [Maximum Marks : 70

W : (i) meTEe sbard & 9 A | et ale e e 1
_Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) TR T ¥ G AT ) HHEAR O AT T P |
- Solveall parts of a question consecutively together.
(iii) mm#aﬁwﬁmﬁﬁw !
Start each question on a fresh page.

(iv) oA s o o g Ry & il s @ A & 1
Only Engltsh version is valid in case of difference in both the languages.

L) ek s e aa St sl fwem 3 v Rafed |

Write differences between Network operating system and Distributed operating
system.

(ii) Q{Hﬂ%qﬁmﬁa%\ﬁﬂm
Define threads.

(iii) Tz B FAYEE wAt = fAfe |
Write the necessary conditions of deadlocks.

(iv) e 3w = Refverer 0@ & AT =T HEQ 8 2
What do you understand by logical and physical address ?

) Pmime st -
l?eﬁne demand paging. . (2x5)

@ , P.T.O.
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2. () s smfn fren & feme wg o T |
' Explain the design issue of distributed operating system. ‘
(i) 9T 7 ¥ 2 SR B Y e
What is Paging ? Explain the paging hardware. (6x2)

3. () e faen @ o v e € 2 A9 e TR SrauRen B W ®ive |
What is file system ? Explain the indexed file allocation concept.
(i) R TERe it TEE ¥ Sewtn T W T |
Explain the deadlock avoidence with the help of Banker’s algorithms. (6x2)

4. (@) IR o T TEER 2 afeT Qe ed B W BRE |
What do you understand by thrashing ? Explain working set model.
(i) YRR ) STEURTT T & A MR S T B |
What is the concept of process ? Explain Process Control Block (PCB). (6x2)

5. () elifen fawew = wRefm #iR | e eem Ry =t o |
Define operating system. Describe the Real tife system.
(i) Ve wEger fawew = THER |
Explain Network File System (NFS). (6x2)

6. () I TR Ut e 2Ry S |
Explain the file attributes anid fife types.
(i) -t Ae) it & oo o e €7
What do you understand by contiguous meémory allocation ? | (6x2)

~ What is page Replacement ? Explain FIFO page replacément algorithins.
(i) AT T WM SRR e = Tam | o
Describe the mainframe and multiprocessor operating system. (6x2)

8. =1 = wuwisd :
Explain the following :
() e
Deadlock Recovery
(i) wERTE, wEifiems
~ SIFalgorithms = | (6x2)



